
 
Para el miércoles día 14 de octubre vamos a saltar al tema del programa titulado 
“Respuestas a la cuestión social”.  
 
Esta “cuestión”, como veremos durante las próximas sesiones, es más bien una 
serie de cuestiones en torno a los problemas sociales y políticos provocados por el 
desarrollo del capitalismo y el surgimiento del movimiento sindical a finales del 
Siglo XIX y principios del Siglo XX. 
 
El primer grupo de respuestas que nos interesa es el que proviene del mundo de 
gestión empresarial. Vamos a ver dos respuestas distintas este miércoles. 
 
¿Qué es el problema que le preocupa a Taylor? ¿Qué solución propone? ¿A quién 
critica y por qué? 
 
¿Qué es la crítica de Mayo a la solución propuesta de Taylor? ¿Qué alternativa nos 
propone? 
 
Para ambos autores, ¿qué papel deberían desarrollar los sindicatos en una 
sociedad capitalista? 
 
¿Son soluciones adecuadas a los problemas que analizan? ¿Con estas soluciones se 
puede superar el antagonismo de clases en el mundo del trabajo? 
 
La clave para estas lecturas en reprografía: 363 
 
 
 


